ROUGH WORK

GLOBAL TALENT SEARCH EXAMINATION #5
CLASS - 5th

Total Questions : 75 Total Marks :- 300 Time :- 3 Hours

Instructions for the candidate :
Please read the following instructions carefully before opening the Question Booklet :

1. This Question Booklet consists of 75 questions. Subject wise serial order of the
guestions is as following :

Subject Serial Order
English Q.1-Q.15

Hindi Q.16 -Q.30
Mathematics Q.31-Q.45
Science Q.46 — Q.60
Mental Ability Q.61-Q.75

2. Each multiple choice question has four options namely (A), (B), (C) and (D). Out of which
only ONE option is correct. Each correct answer earns a credit of 4 marks.

3. Use black or blue ball point pen only on OMR sheet. Use of pencil is strictly prohibited.

4. Folding, damaging or leaving any identifiable mark on the OMR sheet is strictly
prohibited.

5. No Candidate should possess any document other that Admit Card and Photo Identity
Card.

6. Candidate may take Question Booklet with him/her only after handling over OMR sheet
to invigilating staff.

7. Rough work should be done in the blank space provided on the last page of this booklet.
8. From the given 4 alternatives, choose only one alternative and dark the selected circle

properly as

Your Hard Work Leads To Strong Foundation




ENGLISH

1. We always begin a sentence with a
(A) Small Letter
(C) Capital Letter
2. 'Don't insult the poor'is a/an
(A) Declarative sentence
(B) Interrogative sentence
(C) Exclamatory sentence
(D) Imperative sentence
3. Choose the past participle form of 'Write'.

(A) Written (B) Wrote
4.1 met European tourist.
(A) a (B) an

5. Which word is a noun in the following sentence?

| decided to catch the bus because | was late.

(B) Full stop
(D) Question mark

(C) Write (D) None of these

(C) the (D) No Article

(A) catch (B) late (C) bus (D) was
6. | need a little sugar. Here the adjective is
(A) need (B) little (C) sugar (D) All of these
7. Are afraid of water?
(A) me (B) his (C) she (D) you
8. She was absent yesterday she was sick.
(A) because (B) an (C) but (D) so
9. There is a park our house.
(A) at (B) near (C)in (D) of
10. The underline word is a/an
He wrote neatly.
(A) noun (B) adjective (C) adverb (D) All of these
11. Cross road carefully.
(A) a (B) an (C) the (D) No Article
12. Akbar a great king.
(A) were (B) am (C) are (D) was

Directions: Read the information given below and answer the question that
follows:

(i) There is group of five girls.

(ii) Garima is second in height

(iii) Priya is taller than Latika and shorter than Garima

(iv) Manha is the tallest

(v) Megha is shorter than Latika

72. Who is shortest in height?

(A) Priya (B) Latika (C) Megha (D) Garima
73. Who is shorter than Manha but taller than Priya?
(A) Latika (B) Megha
(C) Garima (D) Can’t be determined
74. If GARIMA is coded as 234563 and REENA as 47713, then how will REEMA be
coded?
(A) 46637 (B) 47763 (C) 47736 (D) 47376

75. If ‘triangle’ is called ‘rectangle’, ‘rectangle’ is called ‘circle’, ‘circle’ is called
‘square’, ‘square’ is called ‘sphere’, ‘sphere’ is called ‘cylinder’ and ‘cylinder’
is called ‘cone’, then area of which figure is (length x breadth)?
(A) Circle (C) Sphere

(B) Square (D) Triangle



67. Find the minimum number of straight lines required to draw the

68. Find the mirror image of each of the givén figure(X), if mirror is placed along
dotted line.
Figure (X)
REASON |

(a) NOSV3Y (b) MOSAEA (c) BEV20OWU (d)VWOSA3A

Directions: Study the given figure and answer the questions based on it.

School

Police Post

Mall

Church Library

Train Station Park
Community Centre
69. Anu is facing the park. What will she be facing if she turns 225° anticlockwise?
(A) Church (B) Train Station
(C) Mall (D) School
70. Garima ranked 7" in a class of 49 students from the top. What is her rank from
the bottom in the class?

(A) 49" (B) 48™ (C) 43™ (D) 50"
71. Arrange the following words in a logical sequence.
1. Birth 2. Child 3. School 4. Job 5. Education

(A)2,3,1,5,4
(©)1,2,3,5,4

(8)1,2,3,4,5
(D)1,2,5,3,4

13. What is feminine gender?
(A) Nouns that refer to males (B) Nouns that refer to females
(C) both (A) and (B) (D) None of these
14. Choose the correct opposite of the given word.
Insult
(A) Compliment (B) Complement
(C) Complimant
15. Choose the correct Plural of 'Mouse'.

(D) Compliimant

(A) Mouses (B) Mice (C) Micce (D) Mousess
HINDI
16. 19 <l &S & 991 ¥R @ forar Siar & 9 fod fogs &1 wanT
fopar ST 87
(A) == (B) &<1q €) fag (D) ®R

17. 919 H NGifdhd weq § el BT He Id8Y —
IR DI ggd AT AT |

(A) fdaaras ds (B) Sifraras G

(C) ATadrereds e (D) \qg drae e
18. ‘AEd 7 3fi— ! @HT WHT B 1 — §9 A19g H ST BTl ©°7
(A) I et (B) wfasy wret
(C) wmret (D) guiacH &1
19. T, GOIT 3MS A1al DI T & fTY Bia— | =g BT 9anT foa
ST 27

(A) AT g (B) we fags

(C) areufarm™ (D) foerfears g
20. 771 # | PII—1 e AT S faReeT § 7

(A) 3T (B) ®©

(C) ¥t Hex (D) e



21. "BAATAT SWH ¥R $ oI 3Fd Teq g8y ?
(A) B ®I TTT G dTeT
(B) 83—WR & dTel
(C) gA—ThNepR A <9 gred]
(D) ¥Tra H g&- arett

22, 17 U qrag # T gectar Y qar & forg Iferd faeey gfog —

YITTERIT HEaTS! T gell 38 & |

(A) IR HEUTST BT gl RET ® |

(B) ver=rarat AgufSdmT HY el W& 7 |

(C) varraTal AEUIfSHT &7 ol & |

(D) gt AEuTSa! Bl oIl 32 ¢ |
23. <9 QU are ¥ 9 fIRie wreq 9amgy —

TR g Ve &l 7

(A) @&t B) g (C) et (D) & B |
24. 79 § F PIF—T e FA BT YA I © 7
A) a9 (B) afesh (C) R (D) a=foh

25. <19 QU AT § Ugad HAAM e BT e DI 7 ?
T H 7o R T g

(A) fFAf¥ergara® (B) srff¥erraTars
(C) yoyaras® (D) frraras
26. b1 & fpa W BT € ?
(A) T (B) <1 (C) = (D) ==

27. 519 O 9 89 Uil , Sl SR ardil & Y] WART DI SIhR]
ATl 8, SS9 T HEd 87

(A) ¥ (B) guiHTet (C) wsm (D) =granvoT

63. Select a figure from the options which will continue the same series as

established by the problem figures.
Problem Figures

No| W

(a) | T | (o) [THHHL| (o (d)

64. Select the odd one out.
(A) 17 (B) 21 (C) 27

il
LHHT
.(a) . (b) A

(c) O (d) @

66. How many unit cubes are there in the figure?

(D) 33

(A) 38 (B) 44 (C) 58 (D) 46




54.

55.

56.

57.

58.

59.

60.

61.

62.

The four layers of atmosphere from below are (in sequence)
(A) Stratosphere, exosphere, Troposphere and ionosphere
(B) lonosphere , troposphere, exosphere and stratosphere
(C) Troposphere, stratosphere, lonosphere, exosphere

(D) Exosphere, stratosphere, lonosphere, Troposphere
Which of the following does not have its own light?

(A) Sun (B) None of these (C) Star (D) Moon
Lunar eclipse is formed when

(A) Moon comes in between the sun and the earth

(B) Earth comes in between the Moon and the sun

(C) When thick clouds cover the sun

(D) Either Aor B

Who among the following is not a part of project Apollo XI?

(A) Neil Armstrong (B) Michael collins

(C) Yuri Gagarin (D) Edwin Aldrin

The first animal sent in orbit :-

(A) Dog (B) cat (C) sheep (D) goat
Xanthium and tiger nail seeds have

(A) wings (B) hooks (C) both (D) None of these

A baby X breathes through its gills. An adult X breathed though its lungs on land.
What is X?
(A) Whale (B) Crocodile (C) fish

MENTAL ABILITY

Select the number from the options that will complete the given series.

(D) Frog

20,19, 17, ? , 10,5
(A) 12 (B) 13 (C)14 (D) 15
Find the missing number.
6 6 18 12 30
3 12 9 24 ?
(A) 15 (B) 60 ()10 (D) 20

28.

29.

30.

31.

32.

33.

34.

35.

36.

37.

T’ I BT gIT ISy ?

(A) Tpae (B) sga

(C) =t (D) SWIad H ¥ Py el

qr H forae v § |8 Hel Wil &, SH T HEd & °

(A) Sge=@ (B) fae (C) w@reie (D) e

IART & SMYR R eal & fbad 4g 81d B 7

(A) TP (B) =1 (C) = (D) =R
MATHEMATICS

A man bought an article for © 62.50 and sold it for ® 55.00. What was his profit or
loss?

(A) Loss of ©7.50,

(C) No profit, No Loss

Which angles can make a triangle?
(A) 110°, 50°, 50° (B) 70°, 70°, 70°
(C) 30° 20° 110° (D) 80°, 40°, 60°
The sum of all angles of a quadrilateral is —

(B) Profit of ©7.50
(D) Both (a) and (b)

(A) 180° (B) 120° (C) 90° (D) 360°

The circumference of a circle is 88 cm. Its radius is . (Take = %)
(A) 14 cm (B) 28 cm (C)7cm (D) 21 cm

Find the Volume of a cube whose edge is 15 m.

(A) 3375 m? (B) 225 m? (C) 3375 m? (D) 30 m

The HCF of two numbers is 6 and their LCM is 432. If one of the number is 48,
the other number is —

(A) 54 (B) 42 (C) 27 (D) 56
Read the statement and choose correct option —

Statement A:- 210+2 =15

Statement B:- 12+8+2 =16

(A) Both statements are true (B) Both statements are false

(C) only Ais true (D) only B is true



38. Simplify 18— 42+-6+ 13 x4

(A) 57 (B) 96 (C)90 (D) 63
39. How many kilometres are there in 21m?
(A) 0.21 km (B) 12 km (C) 1200 km (D) 0.021 km
40. Solve:- 7l - 4l + 5i
2 4 T12
1 1 1 1
(A) 25 (B) 8> (C) 43 (D) 1
41. Find the quotient = 2976 + 24
(A) 124 (B) 142 (C) 146 (D) 132

42. Sanju goes to bed at 10:30 p.m. and gets up next morning at 7:50 a.m. How long
does she sleep?

(A) 9h 20min (B) 3h 20min (C) 18h 20min (D) 3h 40min
43. The perimeter of a square is 64 cm. Find its area.
(A) 128 cm?® (B) 256 cm? (C) 16 cm? (D) 64 cm?
Study the following paragraph and answer the question 44 and 45
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Maths Science Drama Debating Music
Cilub Club Cilub Club Club
Clubs ——
44. Which club is the most popular club?
(A) Science club (B) Maths club
(C) Music club (D) Drama club

45.

46.

47.

48.

49.

50.

51.

52.

53.

How many students are members of the Drama and Music club both together?
(A) 1100 students (B) 1000 students
(C) 900 students (D) 1200 students
SCIENCE
A football kicked by a boy rolls on the ground to some distance and stops. The
force which stops the ball is
(A) Muscular force (B) Gravitational force
(C) Mechanical force (D) Frictional force
Radha bushed a heavy table but failed to move it. Which of the following is true

about the above statement?

(A) Energy is not spent but work is done

(B) Energy is spent but work is not done

(C) Energy is not spent and work is not done
(D) Energy is spent and work is done

Which joint helps us to move our head in all directions except backwards
(A) glinding joint (B) hinge joint

(C) pivot joint (D) Hip joint
Which system does make framework of the body?

(A) skeletal system (B) lungs

(C) Muscular system (D) None of these
Which part of brain controls the heart beat?

(A) The spinal Cord (B) The medulla
(C) The cerebrum (D) The cerebellum
Which part that does not belong to eye?

(A) Auditory Nerve (B) olfactory nerve
(C) optic nerve (D) Both Aand B
Which of the following is NOT an igneous rock?

(A) Granite (B) Basalt

(C) slate (D) pumice

One of the following does not come under soil conservation?

(A) overgrazing (B) afforestation
(C) construction of dams (D) both (B) and (C)



